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Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any three questions in Part A.
Attempt any two questions in Part B.
Simple calculator is allowed.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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(i) Discuss the properties of profit function.
(3)

(i) Compute contingent demand for inputs (both

1 = YE-UF & fem 8 ew Ry v FuiRe s @ s
AR TIRaY |

2. STRT A ¥ fresl o WAl ol STRT |

capital and labor) using Shephard’s Lemma
for the following cost functions :

3 WNT S ¥ e 1 weAl ol B e | (a) Clv.w,g) = g% (viF+ wi-B)ii-p

4. WHRY PeeRHCd H FAN T |

Explain what happens to this function if

5. =H WIT-9F o IR Jaen o 6 Rt g o g, wifeRe =1,
ﬁ ol Wam : (b) C(v,w,q) =B qlf(a'rb) vaf(a%-b) Wbl{a+b)
5 where a=1/4, b=3/4, B=3 (4+2)
PART A ;
(3) ww W @ I wer g = F(lk) = 1+4k 8, (wef
1. (a) Draw the budget line for the following cases. | 3 k, Pftee we p wfe gfte 9= W Al 969
, \ _ w1 q TS T IR i D Y AW SR IS ¥
(i) A grocery shop starts a scheme in which, . .

for and then for The price of good is & 3o ¥ 1w (Lk) A (wv) & | FeorEs

constant at Rs.3. Consumer Income is. Y AT A

(ii) If the consumer buys more than one unit (=) = IR LSl & B w9 = gIE AW B |

of the first good, he gets one unit of second

good free. (@) W |

(iii) The Government subsidizes gasoline (@)
purchase by paying half the cost of each

litre purchased in excess of 20 litres per

(i) =« e & IO W |

(i) Fraffas wog w@ @ g Swe o
O
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(a} A firm has production function: q=F(Lk)=1+4k

(where | and k are measures of labor and capital

inputs to produce q unit of the good that are sold
at fixed price p per unit of the good. Cost of (1,k)

are (w,v). Compute the following :

(a) Firm’s conditional demand functions for

labour and capital.

(b) Profit function, (4+2)

4471

3

month. Identify on the diagram for a given
amount of gasoline consumption, how much
consumer spends on gasoline and how much
the {3+3+3)

(b) Answer the following questions :

(1)

(i)

(iii)

Maya thinks margarine is just as good as
butter. Margarine is sold in 100 grams
package and butter in 200 grams package.
Draw Maya’s indifference curve for
packages of margarine and butter and give
her utility function.

Meera likes sugar in her tea, but she simply
cannot differentiate between quantities of
sugar which differ by one gram or less.
Explain why her preferences violate
transitivity.

Find whether is a monotonic transformation
of

Take x (24242)
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Take x.
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per unit of the good. Costs per unit of (L, K) are

(w,v).
(i) Compute elasticity of substitution.

(i1) Does this production function exhibit IRS,
DRS, of CTRE7

(iii) Find firm’s unconditional demand functions

for labour and capital.

(iv) Find firm’s supply function. (2+1+43+2)

(b) (i) In the 2 input case, where both inputs (capital
and labour) are normal, discuss the total effect

of rise in price of labour. (3)

(i) If long run cost function is C*(w,v,q) = 2q*w”

v”, compute the production function. (4)

() uw W @1 IeEd W q = F(K, L) = K2+ 12 &
(STt L 3R K &% 3K 9ot 39 & 3um & o [fes
T Y AT W TRl GRS @ q SR @ 3o
T 3 Brg I fe o E | w6 dE p o
e 21 (L, K) o aft s o (w,v) 2
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(a?)gawéaﬂ%;amww%?
(@) 58 B w1 o = o 20
(77) ﬁ%%qu(p,r)%%qmw
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(i) IreT werey Q=K+ (+L)"? ==l % & Ry
H3TYe faer 9o & aw e st iR
Y L 9 g sk K ol afie =9 =y
A 40 3R 240 F)

@) (i) wﬁﬁ:mw%m%ﬁq
mwﬁaa;mﬁaﬁﬂwm%?wn

(i) fFreafoRes & fre s W A S o
Cog
(a) Q = f(k,]) = (knz 48 11/2)2

(b) Q= f(k,l) = min {3k,51)

6. (a) A firm has production function:

d =F (K, Li = KW 4118 (where L. and K are
measures of labor and capital input used to produce
q units of the good that are sold at fixed price P
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i) (a) Which of the following utility functions has a global

satiation point? Which of them represent convex

preferences? Support your answer with a diagram.

# (3+2)

(b) Consider a consumer with the utility function where

x and y are two commodities.
(1) Plot his indifference curves
(ii) Are his preferences convex?

(iii) Will he spend his entire income on x and
v? (1+2+2)

(c) Draw the Income-consumption curve and find and
draw the Engel curve of good for the following
utility functions. (Assume that = P_x=1and P_y=2)

(3+2)

(37) ﬁm%ﬁaﬁﬁ%msm‘rﬁmwaﬂaﬁaﬁﬁ—gﬁa
fag 27 I ¥ @ o atTarst @ s T
B? N W wEma ¥ I R

-+

BT 0,
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(¥) SRR FeE A SueeE W R W SR« SR

(i) Derive and draw the graph of output

y a1 a0 2 | expansion path for a firm having production
. ] . function Q = K + (1+L)"%; prices of L per
@ oo SRR W W AR ) unit and K per unit being 40 and 240
(il) =Fm It YT oA B 7 respectively. (3)

(iii) =1 98 FFN U¥ @ x W y W @ HEN?

(b} (i) Is the short run cost also the minimal cost

for producing varied output level? Explain.

(@) -wEaE aw Wi i el Sl el |

(3)
fory =g x AT QAT TR FE SIOG SR SR N |
(s F B P x=l 3R P y=2) (i) Compute elasticity of substitution for the
= i following :
(a) Consider the utility function. Initially the prices of - (a) Q = fik1) = (ki + 1122
commodities x and y were and money income is :
b = f(k,1) = min {3k,51 3
Rs. 100. The price of declines to 2.5, the price of S o } "
is unchanged. Decompose the price effect into ] ;
Slutsky substitution and income effect. Further (&) (i) s AR W I
decompose the price effect into Hicksian SeeA W q = 4(k)'?
substitution and income effect. (10)

frar w27 W q dedw G @ eEier

(b) Analyse the effect of a decrease in inflation, other R e ot R
things remaining constant, on a lender’s choice of & € o |
current consumption and savings. Is this effect wH direaw & Y vE e S e 8 (S

the same as that of increase in the nominal interest P & forg e ) 3 dui SYC % faw, ol

rate? (Assume that both current and future
: T W IR T
consumption are normal goods.) (5

P,
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(a)
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(i) W Dy B st Rafr ok wow Rufy ¥
ST A W R R o wh e 2
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ST TR TN 3R R A =Y &) 39
B w w=t =

PART B

(1) The production function for a firm in the

business of software development is given by
q= 4 (k)lfz

where q denotes software development and
k denotes unit of capital employed. The firm
is a price taker for software (which sell for
P) and for the capital input, the rental rate is

Its

(a) What is the total cost function of this
firm?

(b) What is the profit function of this firm?

(c) What is the supply function for software
output q(p,r)? (2+2+2)
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(37) STREn Wt w R | wRe ¥ agst x ok y

4. (a)

W e o, 3R s 100 T ¥ & 9w weaw
25 B W 2, 9 dwa suRatd @S 2 wewn
TeT R ST gME ¥ A o @ famRd
H | I Rt ufea sk st v 9 Rl
T |

U UG hl g @UE R Sed W TEe W
TR & S, 3 e R @ @ e v frenor
®Y | TE TS AR S R Y gy B e 27
(A7 o o =T 3t Wi = @ 39 A ame
1)

A consumer who consumes three goods was
observed in three different choice situations. The
prices faced by her, and the bundles chosen by

her are given in the table below:

Situation

1 1 2 3 2 1 3
Ti 1 1 3 1 1 3
Lii 1 1 4 2 2 4

Check if this price and consumption data is
consistent with WARP and SARP. (5)

P.T.Q,
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(b) Suppose Aman has an initial wealth of Rs.200 and

has the utility function U(W)= VW, where W>0 Situation |
denotes his wealth, Assume that he faces a 10 {i : ? § ? : g
percent chance of losing his wealth because of an Ly 1 I 4 2 2 4
adverse event, where he would lose Rs.50. He

considers purchasing insurance to protect against T fF == TE R 3R @I T2T WARP 3R SARP

his potential loss. He can buy ‘a’ unit of insurance 3 seT &
for Re 0.10 per unit, which pays Re 1 per unit N

that is purchased.

(@) w9 AR 6 39 & 9™ 200 T S TR |afd
B 3R IHA WA wer U(W) = YW 2, W81 W>0
I BT B FA 2 | o o R wies wer

(1) What is Aman’s expected utility from
buying units of insurance?

(i) How many units of insurance, does Aman ‘ . )  FRO I H AT @ 10 sl e e
pRIBlESe] ?, VBT S¥ 50 TN 1 THAM ERM | gE FOA
(iii) Suppose a consumer’s consumption in the THAH ° T9 D o S @leT W fEER e
good state and in the bad state are perfect =€ d\ 9 T gfe 9 010 TR AR “{f\ﬁ? = RamEd
complements and perfect substitutes. For
F i e TE Il 8, W @le T uly ae ® fow 1w
each of these cases, draw the indifference <
curve for the consumer and discuss their S T SRS 7l
degree of risk aversion,. (2+3+5)
(i) o o v 96 | ¥ T @ aERE
(87) U TG S AT TSN DN ITHN FE R, T AT IoAfTE B
T - e wee Rl § @ T | IES g e
% W AR e, SR SER gW W 0 sed A9 (i) o dm AT fovee FohrEdr Eded §7

T et ¥ fog W
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